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I a. Describe the ISO OSI referdt&".
ri{

&.&
Note: Answer any FIVEfull Auestioryffil,*cting at lea,st TWO qu_ast^ionsfrom each part'

n1;-*; fu'

W&cting at least flYO
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iilfu-**prter ne$w6iks. Discuss the functions of
..'ii- (10 Marks)(lu vrarKs)

each laYer. 
" 

,#o fl ".**b. Discuss dial-up MoDzuS# ,'::{* (06 Marks)

c. Briefly explain ;;"effi"$ia"A by telephon" t"@l (04 Marks)

dr"+ #

Z a. What is an ARQdegcribe in detail about Sto"fuand Wait ARQ' (08 Marks)

b. With a neat aiaiamr, explain HDLC framg'fudit' (08 Marks)

-&"?-T -':*r' '- o*o-^le q dT (04 Marks)
c.

,+"b3 a. Compaqe p*re ALOHA with slo,spd,[OHA. What a!&tuthe reasons for poor channel

utilizdri& io af,Oga system' H;.S;-I* same is improveffiSMA? (10 Marks)

b. A pure ALoHA network t'*';ffi00 !'1 fro1 on*a *H1l**nel of 200 KBPS' What is

the throughput if system produces (i) 500 frame/se 
-'ffi@50 

fiame/seo4@w lyY":'l
c. Explainr-p"^itl"r""ar'EliSltt""ischemes' SV= &#t (06Marks)
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4 a. Compare the data r{es "for Standard
rr+

"'r. i PAI(I-I, $.\..,
f&r',b^rr^,,,:-- ^^--oafit*c, iI;rri"", 

t )a. ExplaiiW:'ft llowing conneefiftEGvice:
(il R '&;r 6i) Bridee#%ffi) Router

a, Expraf,Ir tur' lurruvYlrE wvrurvs]"19,:'-

Gt"#$ (ii1 fridge* '4'1tj T:""r $v).6ate 
wav (08 Marks)

b. i*prui" nrrs uu"[ior," #a $tri backbone nerye$s (08 Marks)

^ ts*^roin vLAN - @ r'^;; (04 Marks)
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fl.-hf,"t is NAT? E&ft{1&fl"w NAT frelp ir&{{ress depletion'. . .., --- --,io5 
Marks)

ffi'ftilhat is NAT? nffiffihow NAT nelp iWU{lress depleuon. (uJ rvrar^D,

[.- e*pi"i" rt*"t*"rTd#;. rp*", i@t address of IPV6 address with an example'
(10 Marks)

-x *u

c. Explain classful addressing of pVawith examples'-w$

{*q tuT** #

a. Compare the data r4e, /for Standard HrW$4 Fast Etheroqt,qGiga-bit Ethernet and

Tea Giga-bit Ether*1et.n *t;* ,ffffi (04Marks)

b. Explain'8OZ.l $@am"-ry,'nut'-, *fu'*'; 
" ks%' (o8Marks)

". Discuss mgB $rl'b#f*rrA,q,Ci"yirffi LAN in detail' u 
*' 

(08 Marks)
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liagram, u$.lui, distance vector routing' (10 Marks)

b. Discuss ditr"r""t-d;;##.{;chniques with a neat figure. (08 Marks)

o. What do you **" iV "Tffi*tz 
(02 Marks)

(05 Marks)

(10 Marks)

a pes:ribe-a.lcr-",#:***':l#::lHrfl:T::#iishake [ilu::[3;. n.pr"i" rCp ffiSneat diagram' Write UDP frame format'
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